&
o

BiREBWISYvF / IJb—F1=-v I
[ZEESbhEihy 1 7]

1.2f2. 2.5/, 5#2. 10#
( LD :12~T00N - m )

d

Ym%ziggf{ :
=350 ; Il ,_E :

AN/ 778

B : RERT

I — —
N
P M
L
12 25 50 100
3.5 9.3 24 75
11 27.5 80 173
15 20 25 30
5X17 5X22 7X28 7X33
126 157 197 235
136 156 190 230
110 130 160 200
63 80 102 120
10 12 15 15
98 112 130 150
71 71 71 71
8.5 8.5 11 11
244 277 320 373
176 191 220 255
150 165 190 225
34 43 50 59
27 36 45 54
22 31 40 49
M5X 10 MBX 12 M8X 16 M8X 16
5.0 8.0 15.0 25.5




BRSNS vTF/ IJb—F1=-v b

[ERESHOEEHY 1 T]

202, 40%2. 70#2. 10072

~LZ : 200~1000N * m

-

; - ==
b Ls | H I [ s ©
YXRSE =
- S L | B OI @ /;%§;\ ®
I | | I b \&% =
o\ L L= T 2
A/ 778 SO T (- = ® a
w NEUT ]
| [\
N 4—pH C
P M P B
L
200 400 700 1000
240 580 1100 3000
480 1080 2450 5300
40 50 60 70
10X43.5 15%X55 15X65 18X76
295 350 395 452
280 340 400 460
240 290 340 390
150 180 200 227
18 25 30 30
180 205 231 261
71 71 71 71
13 17 21 21
454 540 640 710
300 350 408 468
260 300 320 400
77 95 116 121
72 90 105 110
67 80 90 90
M10X20 M10X20 M12X25 M12Xx25
44.0 71.5 145 190

B RERT

55




